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= 4,000
Al 6,000
OS2 M20t WEDS 15,000,000 15,000
= 6,000
Al 9,000
SEMEIIZDS 16,100 10,500 5,600
RESIEN Y Ink 16,100 10,500 5,600
201 et | 1,100 6,000 4,900
01 ALR 2l 1,100 6,000 4,900
0UR2 1,100
OMEBIIEDNRE UXE 1,100,0002 1,100
206 T 24| 4,000 4,000 0
01 2 4l 4,000 4,000 0
OMEIIE BHDS W2 4,000, 0002 4,000
301 YErB A 11,000 500 10,500
09 S#AIAHIRAID 2,000 500 1,500
OMEIIZ DHDS &b 2BA  2,000,0002 2,000
1 OIEt2 A 9,000 0 9,000
OLASS 9,000,0002 9,000
s Az |4 251,700 0 251,700
= 23,250
= 23,400
Al 205,050
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SE&E E=sH
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= = X L=
SA - FH SR (B) - NIRAY - BES Ofl &t e jmE=T
HsHE XS 95,000 0 95,000
201 2| 25,000 0 25,000
01 At 22l HI 10,000 0 10,000
OHAsHE E230L & HES MH
10,000, 000& 10,000
03 #AH2ZHI 15,000 0 15,000
OAsHE B8 &3l #Ib 2,500,000& *43] 10,000
OXNEEsH A 222 29 5,000,000& 5,000
207 A0 | 20,000 0 20,000
02 & AN 2| 20,000 0 20,000
OA=HE 2 EHOIA #=  20,000,000& 20,000
402 QI+ TtE0I A 50,000 0 50,000
01 DIt 22X 50,000 0 50,000
OFSQ TIBH N (AESIH, YSAL)
50,000,000& 50,000
HsAHEZN(BX) 121,700 0 121,700
= 23,250
& 23,400
Al 75,050
201 LBt 25,200 0 25,200
& 8,400
Al 16,800
03 AAH2 S HI 25,200 0 25,200
O3 A=ss 23 25,200,000& 25,200
& 8,400
Al 16,800
301 etE A3 46,500 0 46,500
= 23,250
Al 23,250
09 AL HIE &3 10,000 0 10,000
OA=0 Iz A B4
10,000, 000& 10,000
= 5,000
Al 5,000
MIIEEN S 36,500 0 36,500
OF=0 ASHAISWR BASL
6,500,000& 6,500
= 3,250
Al 3,250
OHAso #8Zdast N3 30,000,000& 30,000
= 15,000
Al 15,000
402 QI+ XtE 01N 50,000 0 50,000
& 15,000
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CEB O (B]H) - NRAY - B S (Mof“ 2t
Al 35,000
01 BItXtEE X 50,000 0 50,000
O=9 SIe 4elhl K2 50,000,000 50,000
= 15,000
Al 35,000
H= SESIME=1 35,000 0 35,000
201 B2 A | 25,000 0 25,000
01 AFR2t2ld| 5,000 0 5,000
OLet==H| 5,000
oA=HE DEOM M 5,000,000& 5,000
03 A2 20,000 0 20,000
OH=sHE 9L mE=3 20,000,000 20,000
206 M = 4| 5,000 0 5,000
01 JH=HI 5,000 0 5,000
OAs=sHENDNE ASH=HI 5,000,000 5,000
301 LBt8 A2 5,000 0 5,000
09 AL HIEAZ 5,000 0 5,000
OAsHENE ¢ mi= 5,000,000 5,000
SHPY L3 682,660 159,660 523,000
= 500,000
Al 182,660
AEXZ D23 682,660 159,660 523,000
= 500,000
Al 182,660
JIH =32l 27,000 27,000 0
201 LBt Y| 2,000 2,000 0
02 Z222494| 2,000 2,000 0
OAEEHI S XY 2,000,000& 2,000
206 M =4l 25,000 25,000 0
01 XH=HI 25,000 25,000 0
QOot&E E X & HIE 5,000,000 5,000
Os)H=32e EEMNE 20,000,000& 20,000
SIHLHAIS 155,660 132,660 23,000
101 @14 d| 34,660 34,660 0
04 JI2HHZ2E2XNSE 34,660 34,660 0
O=J1H LHAMEA sIIH EHIE
34,660,000 34,660
201 Bt A | 51,000 58,000 A7,000
01 AF22teld| 7,000 7,000 0
Ot =2Y| 6,000
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o - A L=
SN B S9(S) - MRAE - A 0f &t e HIDEY
OAIRY 2EZHI 1,500,000& 1,500
oZl sJIAUS ¥ JIEIRUBIES
2,000,000 2,000
oSJIH SUAISE ZotFHl AlAE EY
2,500,000 2,500
Ol =4l 1,000
o0SIH =al=cld HE= 1,000,000 1,000
02 SS=3H 44,000 51,000 A7,000
OS2 AA 43,000,000 43,000
OANEZFBIR A 1,000,000 1,000
206 i = Hl 70,000 40,000 30,000
01 M= 70,000 40,000 30,000
Os)1H 28 & 31+ 7 70,000,000 70,000
SIIAHHA (2 X) 500,000 0 500,000
2 500,000
401 Al I 208l 250,000 0 250,000
= 250,000
01 Al & H] 250,000 0 250,000
OsIIHEUAME SREAA AF
250,000,000 250,000
= 250,000
405 XpoHF S 250,000 0 250,000
= 250,000
01 HatH = EFSH 250,000 0 250,000
OIS UAE sIIH 7 250,000,000 250,000
= 250,000
oo 23 65,440 69,240 A3,800
= 41,940
= 6,600
Al 16,900
JEAAAE 65,440 69,240 A3,800
= 41,940
= 6,600
Al 16,900
SHIIHLE NJ(EX) 55,000 60,000 /5,000
= 33,000
& 6,600
Al 15,400
307 212t01 & 55,000 60,000 A5,000
= 33,000
= 6,600
Al 15,400
02 QAN ELS 55,000 60,000 /5,000
O=s83 3N 38248 NI
55,000,000 55,000
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2N SEXNYD

HH: ANSAAY (SEXAD)
el J2ZH(sEXJ1)
= = & E
SA - FH SR (B) - NIRAY - BES Ofl &t el
202 o4l 22,440 18,900
01 = LHOYI 22,440 18,900
SEET 0| 85,000 x22%H x123] 22,440
203 ZRF2ld| 4,200 4,200
04 RN2ZHSZ=LH 4,200 4,200
O=sEXA D 350,000& =128 4,200




